FED S L RITRRRA]) S 108 &R 7 £ 8F 5 HITs s

1EZUHHAR 1E=CRETE | MR %4 JFRIEAR JFRFE 5
501 01 5 5ROk 402 01
501 02 5 HRO¥E 401 03
501 03 5= O, 401 05
501 04 =2 FOiR 402 03
501 05 5= ERO4H 401 07
501 06 5= =O0lh 402 07
501 07 B =ORE 401 10
501 08 5 TROZ 401 14
501 09 5 =0 401 15
501 10 5= FOfH 402 14
501 11 5 HOZK 402 15
501 12 Loy ZXOHT 401 22
501 13 g8 M O4F 402 18
501 14 E°8 RO 402 19
501 15 0 ZX0#”A 402 21
501 16 0 ZE Ok 401 21
501 17 7 HEOH 402 27
501 18 i B5OE 401 25
501 19 0 M OUF 401 26




FED S L RITRRRA]) S 108 &R 7 £ 8F 5 HITs s

1EZUHHAR 1E=CRETE | MR %4 JFRIEAR JFRFE 5
502 01 5 BEROK 401 06
502 02 5= POk 402 04
502 03 = FEOfE 402 05
502 04 =B AOTT 402 06
502 05 5 JFHO%E 401 09
502 06 5= SB05 401 11
502 07 = FHOTE 402 09
502 08 5 20E 402 10
502 09 5= SO5E 401 13
502 10 5 MO 402 12
502 11 5 BROfFE 402 29
502 12 5B PROER 402 16
502 13 Lo =OFT 401 19
502 14 7 SO07E 401 20
502 15 gy EHOK 402 23
502 16 0 RO 402 24
502 17 2L RO 401 23
502 18 gy BO% 401 24
502 19 gy =OJE| 402 28




FED S L RITRRRA]) S 108 &R 7 £ 8F 5 HITs s

1EZUHHAR 1E=CRETE | MR %4 JFRIEAR JFRFE 5
503 01 5 FEOFR 401 01
503 02 5 0% 401 02
503 03 5 B0 402 02
503 04 = FOH#T 401 04
503 05 = Hoe 401 08
503 06 = %0 402 08
503 07 5 HOF 402 11
503 08 5 =OZ 401 12
503 09 5 BOH: 401 16
503 10 5 =0E 402 13
503 11 5 F40M: 402 17
503 12 g°y HOE 401 17
503 13 Lo F O 401 18
503 14 i F O 402 20
503 15 2z RO 401 28
503 16 L ROz 402 22
503 17 L O+ 402 25
503 18 L FEOE 402 26
503 19 i 2058 401 27




